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Quantitative Aptitude for RRB NTPC - (Solutions)

S1. Ans.(a)

Sol.

(u+v)x1=20 _.(1)
(u-v)=x2=20 ..(11)
After solving these equation-
u=15km/hr.

S2. Ans.(d)

Sol. Let no. of benches = x
And, no. of students =y
ATQ,

y =4(x-3) ....(1)
y=3x+3....(2)

from (1) and (2),

x=15

And,y =48

$3. Ans.(c)
Sol.

The middleno. = 1%: 25

Thelargestno.=25+3 =28
Smallest no.=25-3=22
Required difference=22x3 -28x2 =10

S4. Ans.(b)
Sol.

= 3000

L
¥ ——
3

x=9000
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$5. Ans.(c)
Sol.

$6. Ans.(b)
Sol.

07++016 =1.1and 144 =1.2

1.02 -% - 0.995, 1.2 x 0.83=0.976 so,

Largestno.=1.2= 44

S$7.Ans.(c)
Sol.
Req. value= ,j1-2a)" +3a
=1-2a+3a
=1+a
=1.1039

We cannot write v4a'-4a+1=2a-1, because the value of 2a - 1 is a negative no.

$8. Ans.(a)
Sol.

)
Req. SUM = 12X13x33 42 | 2,52 _ g3
o

$9. Ans.(b)

Sol.

5.0.in 12 years = 32000 — 20000 = 12000
SlIn 1 year=12000/12 = 1000

1000
= L0
~o000 * 100% = 5%
=341

Compound Interest in2years=a+b +_a—b =5+5+—
100 100
= 10.25 %

Rate of Interest =

Amount at Clin 2 years = 100+ 10.25 =110.25%
Armount = 20000 x =2
= 22050
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$10. Ans.(a)

Sol.

20+12-2X2_995
100

Now,

70.4% = 740

100% = Rs. 1000

S$11. Ans.(a)

Sol.

(A + B)'s efficiency = 7

Total (A + B + C)'s efficiency = 11

So, efficiency of C=11-7=4
Total work of 1 unit = EIE = 50

So,share of C=4 x 50 =200

S$12. Ans.(d)
Sol.

AABC,

CD=6cm = AD=8cm
ACZ=CD2+AD? = AC=10cm
SD,PQ=%KHC=5cm

$13. Ans.(b)

Sol. S.P.=500

Ist discount = 500 - (10% of 500) =450
[Ind discount = 450 - (10% of 450) = 405

TEST SERIES
Bilingual
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S$14.Ans.(a)

Sol. Difference between price =78 - 69 =9 CBT 1 + CBT 2
So,CP=9+9=18
So,C.P.=78-18=60 100+ TOTAL TESTS
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$15. Ans.(a)
Sol.

100% = % % 100 = 4100

$16. Ans.(c)

Sol.

240

Speed of train = T X % = 54 km/hr

$17. Ans.(c)
Sol.
ala®* + 1) = a®
a’+a=(a—1)
'.'arz:{a—l] = a*=-1

$18. Ans.(a)
Sol.

x+3y=-3x+vy
4x = 2y

ES 1

Z = (i)

¥ 2

Squaring equation (i) and multiplied by %

2 1.1 1

2y 24 8

A
) =
B

Angle between tangent
£AOB=180°-72° = =108°

$19. Ans.(c)
Sol.

$20. Ans.(b)

Sol. Condition of triangle -

(i) 2zA+ 2B > «C

(ii) 2zA-2«2B < «C

Option (b) satisfy the triangle condition.
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S$21. Ans.(c)

Sol.

sin® 4+ cosecB =2 = sinf -I—_; = 2,
2in @

sin® = 1, cosecB =1

s5in78 + cosec’d = + cosec’B

-

cosec’

=(1)+1) =2

S$22. Ans.(a)
Sol. The number of cows =[142 - (50 x 2)] + 2 =21

$23. Ans.(d)
Sol.

All students height ==x.a
10 students height = 10.b
Remaining students height = (x — 10).c

ATQ,
N _ 10ib—c}
10.b+(x—10).c=xa = x= -

S$24. Ans.(a)
Sol.

3WT(VE-VZ)  5VE(VT-VI) 42 VZ(VT-V5)

3 s 2
=435 —y14 — /35 + V10 + 14 — 10 =0

$25. Ans.(c)

Sol.

Putb=1,

(a—7)V—-a*=0

by using option, a = ;

satisfied the equation.
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